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Q1) Fill in the following blanks: [10]

1-The quantity that drives flux in magnetic circuif is called:

2-One of the assumptions in calcuiating Reluctance is:

3-The permeability of a core dropsrtrc') a low value when:

4-The coercive force is defined as:
>
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5-The area of the hysteresis loop is proportional to: vxw(cgiﬂ'?%c\t o¥ oumlivad L

6-Eddey current losses are reduced by: \;thr\\g Cove

7-The construction of transformer which has the windings wrapped
Around the central legis called:

8-Flux linkage is defined as:

9-The two components of the no-loa
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current of a transformerare:
10-The shape of the transformer excitation current is: [ i"‘ I(""L‘j C_
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Q2) The construction shown in Fig. 1 has a depth of 8 cm and the
follow_rir]g magnetization curve data:
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A —0gx0 _B,’__Qngﬁa\.i\;gvaluate the current required to produce B=0.25 T in the right leg.
= " Assuming that right and left legs are symmetrical. ~ [g]

: 3 [ =M 0
%B:—éaw SWQW«T\’\QSl @ﬂ‘/{/t l

A RZOZ5 SU=50 7
[« — Y
b 2y s @

. R, = RE‘: ‘5’? ;

. P =0Sx0 6L P § |
%5; Ct:O(é"F’@\ji - U L

, = ‘ — = \ Fig. 1 s
b-Evaluate p, of the core according to the d'a‘ta:‘of central leg. [2] ;
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Q3) A (480/4800) V, 10 kVA transformer has a series equivalent

”_; | impedance in per-unit as (0.0087-} 0.026).Find the equivalent
\ 7 / impedanceinQ referred to HV side. [5}-
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04) A 20 kVA, {8000/240) V, 60 Hz transformer has the following

parameters referred to HV side:
R=159 KO X.,,=38.4kQ R, 3340 X, 71920

If an O/C test was performed with the LV as the primary, what would

be the READI Sofltsmeasurmg;nstruments. NG [15] T
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Q5) A 15 kVA , 2300/230 V transforme: has the following parameters
Referred to LV side: R.4=0.0445 Q Xq=0.0645 Q
If this transformer is used as step-down, find its PU equivalent circuit

‘:"" \f’\/ and then use it to find the full loac voltage regulation at 0.8 lagging
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